
  III �  1 A-19-03

Instructions for the Candidates
1. Write your Hall Ticket Number in the space provided on the top

of this page.
2. This paper consists of seventy five multiple-choice type of

questions.
3. At the commencement of examination, the question booklet will

be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper

seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.
Example :      A B C D
where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done in the end of this booklet.
8. If you write your name or put any mark on any part of the OMR

Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

 10. Use only Blue/Black Ball point pen.
 11. Use of any calculator or log table etc., is prohibited.
 12. There is no negative marks for incorrect answers.
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Paper – III

��	���� – III
1. Rousseau’s writings emphasized on

(A) role of property in public affairs

(B) importance of ethics in politics

(C) individual as a supernatural entity

(D) idea of natural sociability

2. The concept of Political Elite combines the

characteristics of

(A) Rulers and Masses

(B) Oligarchy and Aristocracy

(C) The leader and the followers

(D) The leader and the subalterns

3. Who were the other two Election

Commissioners when the Supreme Court

adjudged that Chief Election

Commissioner and the other two election

commissioners have the same powers ?

(A) J.M. Lyngdoh and M.S. Gill

(B) M.S. Gill and G.V.G. Krishnamurthy

(C) G.V.G. Krishnamurthy and

J.M. Lyngdoh

(D) M.S. Gill and V.M. Tarakunde
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(C) KG,GKG������-L���	�
&����	
'�"		��("G'�"	�G�:��?H

(D) '�"	�G'�"	v%GI!J"����	
'�"		�,G'�"	�G�)0��'	��=D�
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4. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given
below.
Assertion (A): Woodrow Wilson is

regarded as the father of
the discipline of Public
Administration.

Reason (R) :He asserted that “in
administration there are
certain fundamental
principles of general
application analogues to
those characterizing any
science”.

Codes :
(A) Both A and R are true and R is the

correct explanation of A.
(B) Both A and R are true but R is not a

correct explanation of A.
(C) A is true but R is false.
(D) A is false but R is true.

5. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given
below.
Assertion (A):Pakistan accusses India of

illegally occupying
Kashmir and oppressing
Kashmiris.

Reason (R) : India seeks impartial third
party mediation on Kashmir
issue.

Codes :
(A) Both (A) and (R) are individually true

and (R) is the correct explanation of (A).
(B) Both (A) and (R) are individually true, but

(R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

4. �����/�����'�=��	�������M���:���NO=�����,G�2,�s���F�"����+��/�����
(Assertion A) ��'�=�����E� P5")��	���Q� (Reason R).

AF�"
�/��1$-7!"�;����	��
��%
'("	*�����?=��	���	����	
&����	���		G
�	���������� (A) :;�=?,�w�J����	� ���6�"	)��N�����040�%x

$�)��� �P�����F���'	
������
���� (R) : yyz� 40i� x
��� *�0�;����� ,./���� �D�

������!"� ����=0� ��
�� ���{|������	*���
i�./0��'q"�� ����
&��D�

'�"	�����	����,}}�2
� l'�"	���
�0E��0=��	

������ :
(A) A ���	
'�"		 R ��'�=���� �%
'("	*����D�� ���	
'�"		

R A ���	��%
'("	*����,�����'q"
(B) A ���	
'�"		 R ��'�=���� �%
'("	*����D��� 
 R A ���	

�%
'("	*����,�����'q"�� /��	
(C) A s��t�� 
 R )����t
(D) A )����t�� 
 R s��t

5. �� ���/��� ��'�=��	� � �����M����	����,G� s���F�"� � ��+��/�����
(Assertion A) ��'�=�����E� P5")��	���Q (Reason R).

AF�"
�/��1$-7!"�R�M	7��
��%
'("	*�����?=��	���	����	
&����	���		
�	���������� (A) : � ~���'	���	�/��	� ����,	���� ~�S����	

2q"��D��%	&����/��
�6���')J��R�*������i�&�J�

�/0�?�5"q"��D��%	&����E

������
���� (R) : � ~�� �'	� ,�0/���R�*� 6���')��/D�4 �"�

���9 ��� ��� ��	 *� ��� ) ��13'� "	� ��9 ��
���	./������
&)0N
���?��'	)��	����E

������ :
(A) A ���	
'�"		 R ��'�=����,=��,=��� ��%
'("	*����D�

���	
'�"		 R A ���	��%
'("	*����,�����'q"
(B) A ���	
'�"		 R ��'�=����,=��,=��� ��%
'("	*����D��� 


R A ���	��%
'("	*����,�����'q"�� /��	
(C) A s��t�� 
 R )����t
(D) A )����t�� 
 R s��t
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6. Arrange chronological order of publication
of the following books by choosing the
correct code :

I. A Grammar of Politics

II. The End of History and the Last Man

III. Two Treatises of Government

IV. What Money Can’t Buy : The Moral
Limits of Markets

Codes :
(A) II, IV, I, III
(B) III, I, II, IV
(C) IV, II, III, I
(D) I, III, IV, II

7. Who is the author of ‘constitution and
constitutionalism’ ?
(A) J. Austin
(B) C.J. Friedrich
(C) Montesquieu
(D) Granville Austin

8. The study of state politics as an
autonomous discipline has been primarily
an outcome of
(A) Rise of regional parties
(B) Decline of national parties
(C) New local governance system
(D) Non-party political movements

9. Arrange the following States in
chronological order in the establishment
of Institution of Lokayukta at State level
1. Maharashtra
2. Odisha
3. Andhra Pradesh
4. Uttar Pradesh
5. Karnataka

Codes :

(A) 2, 1, 4, 3 and 5 (B) 1, 3, 4, 2 and 5

(C) 2, 1, 4, 5 and 3 (D) 2, 4, 5, 3 and 1

6. �%
'("	*�����?=��	���	����	
&����=����/0N� �E���	����������0:���0F�"
������	��'q"��%����)��w� ������ ��'��z� �M	��D�'�"		���		

I. @��� ���	�T'�lv����:F�"�T�w
II. /���@�=T��lv��$5"�%7S�2�=T��/���!�v%7���	�J�
III. M���Fn"F("*�("v%�lv����������'����	�FJ"
IV. �0FJ"����	U�� �FJ"�V("*���/���������'!J"�:,	FJ"w�lv��������'�FJ"w

������ :
(A) II, IV, I, III
(B) III, I, II, IV
(C) IV, II, III, I
(D) I, III, IV, II

7. y� �J�wF�"M���-�J��2�=T��� �J�wF�"M���-���:m�}� �������������'&
@�����'	�u
(A) �("G�l$%7�J� (B) $%G��("G��R�=��
�T�
(C) �����F("�%��� (D) �� �J�,!J"�l$%7�J�

8. � �-�� � m�n�'�"�:��s���� �%N���W�/��� 40�%x�� �2./���'�"	����
�D�'�"	=0
�������./0����� ��'q"�
(A) ����3'�"	���S7�����O����R���'���=���
(B) ��3'�"	���S7�����O����)������=���
(C) ����)������i�X
�������6�"	)��N���������%X
(D) ��S7'Y"	)����'�� m�n�'("�/��������	

9. � �-�i�X�'		!"�!"� '�"		���&��
'�"����	������D�$%�����������	�!"
�����E�� ���:��P�
Z�/0

��%����D���?=��	���	����	
&����	���		
1. ���	�� �-�
2. s=n���
3. l��./�����/D�4J"
4. ;)��&��'����/D�4J"
5. ���� LM���
������ :
(A) 2, 1, 4, 3 ���	
'�"		 5
(B) 1, 3, 4, 2 ���	
'�"		 5
(C) 2, 1, 4, 5 ���	
'�"		 3
(D) 2, 4, 5, 3 ���	
'�"		 1
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10. Softness in US approach towards India
can be attributed to

I. Growing Indian market

II. Growing menace of terrorism

III. Growing nuclear strength of India

IV. India’s demand for membership of
UNSC

Select the correct answer by choosing the
relevant code

(A) I, II and III (B) I, II and IV

(C) I and III (D) I and IV

11. In strict sense, political theory refers to

(A) providing general answers to general
questions

(B) concern with day to day questions

(C) speculating as models of explanation

(D) designing a systematic and all
embracing doctrine for political action

12. Which one of the following countries is an
example of federal government although
its constitution is Quasi-federal ?

(A) Canada (B) Australia

(C) Switzerland (D) U.S.A.

13. Which amendment restricted the size of
the Council of Ministers to 15 per cent of
total number of members of the Lok Sabha ?

(A) 93rd Amendment (2003)

(B) 89th Amendment (2001)

(C) 91st Amendment (2003)

(D) 92nd Amendment (2002)

10. B�=��'�"�� ��M#�2���	
� �2�������%	&����� ���	)������ ���*[
���
� ��'q"�

I. 6���')���������'�M	7�R���'	���	/���

II. R���'	���	)��	�����;�����0/����Q����		��t
III. R���'	���	)��	�����6���')���2q"	��M����
IV. \����� m��%,	+� 6�"�/��)0���	�=��:� �%6�"�)0N
��� *

B�=��'�"��=�������=��	
�%
'("	*�����%����./0�0
��B���N=0
�����%
'("	*�����?=��	���	�@�$����
�D�'�"	�=��
(A) I, II ���	
'�"		  III (B) I, II ���	
'�"		 IV

(C) I ���	
'�"		 III (D) I ���	
'�"		 IV

11. [�Z)�����	*����2��'X�!"�����$%�����t=��	�� mU+�$%/0��)�����	���� 
B!��������������	Z
(A) i� ./0� �'q"� ��	 *� ��� � ��4 � "��� ��	� i� ./0� �'q"� ��	 *� ��

�%����./0���:���N=���
(B) /��*����E�������4�"�����	
���l!"�����=���
(C) ,�����'q�)�������������	��0�����	
����$5"����=���
(D) s�����������	O/������	*���<� �%��'N��0���&���	*����� m�n�'�"	�� ��'�


'�"	����
����'�������������D�'�"	=���

12. /0
�� ���������2��'X��%����[��2�'		������F�"�n�������E�/D�40!"#
/D�
����6�"	)0N
���%����[�����6�"	)��N��2
�2�F���'	�u
(A) ������=0
(B) l�P%7:'�"�
(C) $%NFJ"m�T'!��=��	
(D) 2���	
� ��%�'�"		���&�� ����	

13. ���	��+���	�=��:� �%6�"	���%�[�� !"�T� �%6�� "�%6�"	��� �%�[�
15 40)0
����,	�������	�=0����M7=����D�$%����� ��������%�����'q"
zE�u
(A) 93 ����� ���������%�����'q" (2003)

(B) 89 ����� ���������%�����'q"�(2001)

(C) 91 ����� ���������%�����'q"�(2003)

(D) 92 ����� ���������%�����'q" (2002)
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14. Arrange the Emergence of the following
theories in chronological order
1. Scientific Management Theory

(Taylor)
2. Decision-Making Theory (Simon)
3. Human Relations Theory (Mayo)
4. Functional Theory (Fayol)
5. Conflict Resolution Theory (Follet)

Codes :
(A) 2, 5, 1, 4, 3 (B) 4, 1, 5, 3, 2
(C) 4, 3, 1, 2, 5 (D) 3, 1, 4, 5, 2

15.  Which of the following companies
acquired 20 percent stake in Sakhalin-I Oil
and Gas project of Russia ?
(A) Reliance Petroleum
(B) Hindustan Petroleum
(C) ONGC Videsh Ltd.
(D) Indian Oil Corp.

16. The role of political ideology is to
(A) reduce the complex philosophical

principles into formulae for focused
action

(B) generate understanding about society
(C) produce logical explanation of

complex social phenomena
(D) to create ethical norms for society

17. Arrange the chronological order of the
following books by choosing the correct
code
I. Politics
II. Democracy in America
III. Spirit of Laws
IV. The Politics of the Developing Areas

Codes :
(A) I,  II,  III,  IV (B) I,  III,  II,  IV

(C) I,  II,  IV,  III (D) II,  I,  III,  IV

14. �%
'("	*�����?=��	���	����	
&����=����/0N� ������E� $%/0��)0�
l,� ������ ����������
��)���	��Q���		
1. 40>%x'�"	�
��'N�5"q"�$%/0��)��� (FY"��T')
2. 
��'L�'	������'q"�$%/0��)��� (R%*���	�J�)
3. ������������%�O�./0��$%/0��)��� (�D�	'("�)

4. ,./��	��$%/0��)��� (P�'�"�!J")
5. ��	��'�q"��
���1+&�$%/0��)��� (��!("FJ")
������ :
(A) 2, 5, 1, 4, 3 (B) 4, 1, 5, 3, 2
(C) 4, 3, 1, 2, 5 (D) 3, 1, 4, 5, 2

15. ��'���!"
��%]�:�J�-I ������		��'	��0'�"		����������!"�20�40)���
�0F����	������������R�U�zE�u
(A) 
�'�"	�J�w�R��F":'�"	�
(B) $5"�/��	i�X�J��R��F":'�"	�
(C) �G'�"	�J�GoG>%G�,/D�4J"�:,	F("=T�
(D) B�=��'�"	�J��l�'		!J"�� �?��D'�-�J�

16. � m�n�'�"	�6���������Q����)���BE
(A) �%���� # �-7���	*���� )0+N����
'�"	��������	�

C�-7���	*���

���1$-����2���	���*�����%��)0�	� ����	����=���
(B) �%����m���M#�2���� �5"������	����:I����=���
(C) �%����#�-7�i�����K����/��1IN�-'�"�����	�)0
�����,�����'q":�

��'����E����=���
(D) �%������
�������*+�����������q�:��)��'�"���'	��D�'�"	=���

17. �%
'("	*�����?=��	���	����	
&����=����/0N� ������E�������0�
��0F�"
������	��'q��� ��������	�!"�z� �M	��D�'�"	�=��
I. ��:F�"�T�w
II. =����������>%�B�J��2���	
� 
III. $%�
FJ"�lv��!�v%
IV. /�����:F�"�T�w�lv��/���=������$���T��z
'�"�v%

������ :
(A) I,  II,  III,  IV (B) I,  III,  II,  IV

(C) I,  II,  IV,  III (D) II,  I,  III,  IV
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18. The most suitable normative prescription
for ensuring effective functioning of
Panchayati Raj Institutions is
(A) Adequate powers, resources and

accountability mechanisms

(B) High electoral turn out, more political
parties and leaders

(C) Surplus funds, more functions and
devolution

(D) Structural change, constitutional
empowerment and training

19. Arrange the following Committees in
chronological order
1. Ashok Mehta Committee
2. Balwantray Mehta Committee
3. L.M. Singhvi Committee
4. G.V.K. Rao Committee
5. C.H. Hanumantha Rao Committee

Codes :
(A) 1, 2, 5, 3, 4 (B) 1, 3, 2, 4 and 5

(C) 2, 1, 5, 4, 3 (D) 4, 2, 1, 3, 5

20. Brundtland Report of 1987 is related to
(A) equitable distribution of world’s

resources among poorer nations

(B) strengthening of United Nations by
expanding Security Council

(C) initiative by powers towards gradual
reduction of arms

(D) creation of a world forum to end global
terrorism

21. Resurgence of political theory is marked
by the works of
(A) Karl Deutsch
(B) John Rawls
(C) David Easton
(D) Samuel P. Huntington

18. ����0�'		3� �J"��%��%X�	��%���	��'X����)���� ���
�D�'�"	=0
���
2)����)��� �%���		�)�����	*�����������q�)���������	*���� �%��������z/?
�����E��0F�"!"����	
&����	���		
(A) �0:���
��2.E� � �	<� ��������'	�	<� V�./���)�����	

�%�O�.E������z� �M	#��D�'�"	=���
(B) @
����!"#�@���	��������	�E���!�����=���<�@���	�����,./��	�	

���	
'�"		�2.E� � :���N=���
(C) ,	���	�	�
./��	�	<�@���	�����,./��	�	� ���	
'�"		

2.E� � :����N=���
(D) 

�+!"�������'	�<�� �������O/�����%4�"�n�&�����'q"����	
'�"		

p9��q"�B���N=���

19. �����E����,	Fn"����	��0F�"���
� ���Q��������	�!"�P�
Z��%
'("	*���
�?=��	���	����	
&����=����/0N� �)���	���=��
1. 24"�T�����	�5")0����,	Fn"
2. O�N�)���� 'J"	����	�5")0����,	Fn"
3. '�"	!J"G�'�"	�G�$%�$�	N����,	Fn"
4. KG,G���G�� ���Q����,	Fn"
5. $%GR5"�J�G��5"���	���	�)��� ���Q����,	Fn"

������ :
(A) 1, 2, 5, 3, 4 (B) 1, 3, 2, 4 ���	
'�"		 5
(C) 2, 1, 5, 4, 3 (D) 4, 2, 1, 3, 5

20. 1987 �O�FJ"!��=T��
�D�E����k
�����%�O�.E�����E
(A) � �������� ��Q� ��������'	:�� P�/��/D�40�� ���	./������� �%


�%��������� �������=���
(B) 6�"�/��)0���	�=��:��%6�"�)0N
��R�����=����/0N� �\����� m�

�%,	+
�O!"P�)�����D�'�"	=���
(C) �����D�	$�� �l'�"		./0��)��I����Q������*�2����� ���������'���
(D) � ���������!"�;�����0/����2�)0
���� � ���	� s���

����������D�E������	��%1$-7����=���

21. � mU+� $%/0��)��� ��Q�����'	)0&����!"�8'�"	������'�������
���)���;�E
(A) � �T'#� =����'		v-
(B) ���J��� !J"w
(C) =D�,=T��8�%7�J�
(D) i����	��!J"� $�G� �5"�F�"��T�M�J�
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22. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given
below.
Assertion (A): The system of proportional

representation may solve
the problems of minority
representation to some
extent.

Reason (R) : The system of proportional
representation enables
due representation to all
types of groups based on
ethnicity, gender interests
and ideologies.

Codes :
(A) Both (A) and (R) are individually true

and (R) is the correct explanation of (A).

(B) Both (A) and (R) are individually true, but
(R) is not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

23. Match List I with List II and select the
correct answer from the codes given below :

List – I List – II
(Name of Directive (Article in the

Principle) Constitution)

I. Separation of a. Article 49
Judiciary from
executive

II. Uniform civil code b. Article 40
III. Organisation of c. Article 50

Village Panchayats
IV. Protection of d. Article 44

monuments of
national importance

Codes :
I II III IV

(A) b d c a
(B) b c a d
(C) b c d a
(D) c d b a

22. �����/��� ��'�=��	� ������M���:���NO=�����,G� s���F�"� ���+��/�����
(Assertion A) ��'�=�����E� P5")��	���Q (Reason R).
AF�"
�/��1$-7!"�R�M	7��
������E��?=��	�!"��%
'("	*����/0


���	
&���Q���		G
�	���������� (A) : ���+
./ ���� � ����i�N� ��	�� ��/ �� �+

2���%�]��� ��� � ��� ��� ���+
./ ���
�%� ��	 �%�� ��	� ���) ��� D�	� �'� D�
��
�-�
����������	Z

������
���� (R) : ���+
./���������i�N���	�����+<�:����
6Y "/ ���<� 6�� ������<� � ��) D��� ��
���'("�m�0�����+��E�������z��'�=D��2
�
���� �����	�)��I�������+
./�����B�D�Z�A�	
���:��%	&�E

������ :
(A) (A) ���	
'�"		 (R) ,=��,=��� ���'�=���� �%
'("	*����D�

���	
'�"		 (R) (A) ���	��%
'("	*����,�����'q"
(B) (A) ���	
'�"		 (R) ,=��,=��� ���'�=��	��%
'("	*����D��� 


(R) (A)����	��%
'("	*����,�����'q"�� /��	
(C) (A) s��t�� 
 (R) )����t
(D) (A) )����t�� 
 (R) s��t

23. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
�������F�"7���!"

2�40����	���� ���������F�"7���!"
�2�40�)?�m)���D�'�"		���		G

	�!"�#��
 – I 	�!"�#��
 – II

(i�$�j��
�	
%���� ������
) (��k&' (�
��	���
���)� )

I. �0�'�"	40[<�� ��'�
� N�5"��� a. 49 ����2.E�����'q"�
40[��,6�"m���

II. ;���	�=���$%,!J"��?=T� b. 40 ����2.E�����'q"�
III. �� ���	�����0�'		3��z� �M	 c. 50 ����2.E�����'q"�
IV. ��3'�"	����./0����)������ d. 44 ����2.E�����'q"�

���M7=0����
��'9��q"

������ :
I II III IV

(A) b d c a
(B) b c a d
(C) b c d a
(D) c d b a
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24. In the context of Judicial control over
administration, malfeasance stands for
(A) Error of law
(B) Error of fact-finding
(C) Abuse of authority
(D) Error of procedure

25. Which one of the following is correct
description of ANZUK ?
(A) It is a grouping created to protect US

interests in the Indian Ocean
(B) It is a political arrangement to protect

NATO military base in the Pacific
(C) It is a military and political grouping to

provide collective defense of African
continent

(D) It is a free trade arrangement between
United Kingdom, New Zealand and
Australia

26. Match the items of List - I with items of
List  - II and select the correct code :

List – I List – II
(Liberal Theorists) (Their Books)

I. Michael Walzer 1. Liberalism,
Community and
Culture

II. R. Nozic 2. Political Liberalism

III. Will Kymlicka 3. Spheres of Justice

IV. John Rawls 4. Anarchy, State and
Utopia

Codes :

I II III IV

(A) 1 3 2 4

(B) 2 1 3 4

(C) 3 2 4 1

(D) 3 4 1 2

24. ������R�*� �0�'�"	� 40]��
'�"	��)��q ���	"� �%�O�.E��
����!J">��%�J�w�(malfeasance)�2���� 
(A) ���M7�!"�)��$��/���
(B) '�"	�0��'X�
� ���'q"!"�)��$��/���
(C) 2.E� ��'�/��	
N
'("�����
(D) ��/���+ (procedure) !"�)��$��/���

25. ANZUK ���	
��������E��0F�"!"��%
'("	*���������'L���"�zE ?

(A) $5"�/�������	���%���		�/���!"�2���	
� ����'("�m�0:�
� ��=��F�
���*�z� �M	��D�$%��������M,	

(B) ��$%$��T�� ����)���!" NATO R%*
���� i�X���� 
�
� ��=��	�?���=0
���*��D�$%����s����� m�n�'�"	�z� �M	

(C) l�$�� [�=����Q� �%,	$-7���'9��q"���*�z� �M	��D�$%����s���
R%*
�������	
'�"		�� m�n�'�"	�����M,	

(D) BE�B�� #�=��	<������o!��=T�����	
'�"		�l�P%7:'�"�
/D�40�����	./�������m
I����P%N�0W������'&�����Q�z� �M	

26. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
�������F�"7���!"�;����
2�40����	���� ���������F�"7���!"
�2�40�)?�m)���D�'�"		���		

	�!"�#��
 – I 	�!"�#��
 – II

(*�����������+
��, �����
��� -.
) (��/��(�
 0�.
)

I. ���	*]("*!J"��0!J"m�T' 1. :O��':m�<�������	��
Fn"
2�=T������Z�T'

II. l�T'G��?K�T� 2. ��:F�"���!J"�:O��':m�

III. ,!J"�����J�	:� 3. >%�'�"	�T'w�lv��m$%7v%

IV. ���J��� !J"w 4. 2�0
�<�P%7FJ"�2�=T�
'�"		F"$�'�"�

������ :
I II III IV

(A) 1 3 2 4

(B) 2 1 3 4

(C) 3 2 4 1

(D) 3 4 1 2
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27. Under Single Transferable Vote System
each voter can

(A) Indicate only a single preference

(B) Indicate one preference less than the
seats to be filled up

(C) Indicate as many preferences as there
are candidates to be elected

(D) Indicate one preference more than the
seats to be filled up

28. Match List I with List II and select the
correct answer from the codes given below :

List – I List – II
(Name of Act) (Year of

implementation)

I. Terrorist and a. 1983
Disruptive
Activities Act

II. Maintenance of b. 2001
Internal Security Act

III. Prevention of Terrorist
Activities Act c. 1985

IV. National Security Act d. 1971

Codes :

I II III IV

(A) c d b a

(B) b c a d

(C) b c d a

(D) d b c a

29. “The field of administration is a field of
business. It is removed from the hurry and
strife of politics”. This was stated by

(A) L. D. White

(B) Woodrow Wilson

(C) Dwight Waldo

(D) Marshall E. Dimock

27. z�������
�=����?F�"����	�,./0��������� ��'�����3�?M��'	�B!�
�D�'�"	������	Z
(A) �D�������s�D��s�������./0����)�����	��%������������	Z
(B) 
�������$%����i�X�0�����0��s�������./0����)�����	�)�����	����� 

�%������������	Z
(C) �jFn"!"�@�)�����	�E�26�"	���'	X��FY"�2
�����./0����)��:�

�%������������	Z
(D) 
�������$%����i�X�0�����0��s�������./0����)�����	�@���	����� 

������������	Z

28. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
�������F�"7���!"

2�40����	� ��� ������� ��F�" 7���!"
�2�40�)?� �%
� �� m)��
�D�'�"		���		

	�!"�#��
� – I 	�!"�#��
 – II

(1���# �����
) (2���
.
34�"
����56���
	
 ���������� )

I. ;�����0/�������	
'�"		�,�W���� a. 1983
�����'�� ��'����!��������M7�

II. l�)����'�I����6�"�/��)0����M7� b. 2001
III. ;�����0/���� ��'����!����


�?./���������M7� c. 1985
IV. ��3'�"	�6�"�/��)0����M7� d. 1971

������ :
I II III IV

(A) c d b a
(B) b c a d
(C) b c d a
(D) d b c a

29. yy����0��'������ s���� �0�����'� ��'������ ����F�"EG� /0
!"
� m�n�'�"�!"#�;�=D��)��/����'��M	<�������	�;�=�����Q}}G
B!�����$�����/�������'	�u

(A) '�"	!J"G=��G����*FJ"
(B) ;�=?�,�w�J�
(C) =��*NFJ"�0!"H
(D) ������'�!J"�BG�=�������T�
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30. “Obsolete technology is diverted towards
the poor nations and rich nations thrive on
the basis of booming markets’ – This
statement relates to
(A) World State Theory
(B) Marxist Theory
(C) NIEO
(D) Dependency Theory

31. The concept of trusteeship is based on an
underlying idea that
(A) It is not possible to satisfy the basic

needs of all
(B) All humans are born equal and

therefore have right to equal
opportunity

(C) One’s income depends on intellectual
and physical capacity that one has

(D) Violence and force are necessary
evils

32. The classification of assemblies as
‘active’, ‘reactive’, ‘marginal’ and ‘minimal’
is attributed to
(A) Jean Blondel (B) M. Mezey
(C) P. Norton (D) Sartori G.

33. Analyzing the provisions of Directive
Principles who said that the ghosts of
Sidney and Beatrice Webb stalk through
the pages of the entire text and this part of
the Constitution expresses ‘Fabian
Socialism without the word Socialism’
(A) Morris Jones
(B) Lloyd and Susanne Rudolph
(C) Ivor Jennings
(D) Selig Harrison

34. Which of the following are true of New
Public Administration ?
1. It is less institution-oriented and more

client-impact oriented
2. It is more neutral and less normative
3. It is less generic and more public
4. It is less neutral and more normative

Codes :
(A) 1, 2 and 3 (B) 1 and 2
(C) 1, 3 and 4 (D) 2 and 4

30. yy� ������:#����i���D�+������
����0
��P�/��/D�40����	�)����':��
�%��������/D�40�	�,��S)���� �R���'	���	)��	�����������'�M#����#
������/��	)��	�0���'	}}�2������0�]�������/D�
��������E���E�u
(A) ,4�"N�� m��$%/0��)0
���
(B) ����
��w�%	7�$%/0��)0
���
(C) NIEO ���	
(D) ����')����)��)0�$%/0��)0
���

31. ./����'������'&� 1)��N�6��������8�l!"�������R�*�l./0��'��=���;����E
(A) 2�/��
����U�%�2����%� :��3��'Z=����i�./������ /��	
(B) ���	���	�-	��)0��%�������)��N�!"���QF�7��'	�������	�����0
���

�%�������)��N��Q��5"���	��;�E
(C) s�����������&�l/0'�"	��2)��
��D�	./04�"���&����	
'�"		�40S��'���

4�"���&�R�*�l./0��'��=���;�M	�E
(D) $5"��%����	
'�"		�O����'("������2�D�,�2����%��'���	*���

���=��	��Q�	
32. 2R%��#����	�y���	��'	���*���}<�y���+���� �)���������	*���}<�y;���)��}

���	
'�"		�y���
�-7}����� ��	� �,6�"m�����D�$%���E������E��0
!"
@���

�6�,i�&��'	�u
(A) o�J��V�#�=��!J" (B) '�"	�G����	�Y"
(C) $�G�0��'7�J� (D) i��?7
�KG

33. l/D�p���� �%��)0�� ��������'q�:��,4D"#$-�%�&� � ��������!"

P�o�
��F�"!"� $%= n�����VJ"<� ��F�"v%� ���VJ"�� �P�)0)����	
�%����
�%	&�0�'�"	
<�8�� ��������,6�������	�)0�yij�-:m�
2�D�� ��/����;���W
�������	�=0� P��'�"	�J�� ij �-:��
�
������F�"�%	&�E}�2
��0�]��
�����/�������'	�u
(A) ����
v%��"�J�w
(B) !�#�'		=T�����	
'�"		��%	���J����'	=0!J"�
(C) \����T'��("
���T�w
(D) R%:�T���
�%�J�

34. �� ���E� �0F�"!"� � ���)��� ��� � ��6�"	)��N������� � ��	
��
'�"	�0��'X���	*����D�,�u
1. BE� )��� ��	����� � � ���� ��ij X � ��	�� ���<� @���	�� ��� 
l�p)��	�	����6��?���	�����

2. BE� @���	����� � )��M�%X�� ���	
'�"		� )�����	����� 
,�	�0)�������

3. BE�)�����	����� �i���'N�+����<�@���	����� �����"���	�����
4. BE� )�����	����� � )��M�%X�� ���	
'�"		� @���	����� 

,�	�0)�������
������ :
(A) 1, 2 ���	
'�"		 3 (B) 1 ���	
'�"		 2
(C) 1, 3 ���	
'�"		 4 (D) 2 ���	
'�"		 4
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35. Match List I with List II by choosing the
correct code :

List – I List – II

I. Catholicism 1. Movement
against armed
struggle which
cause loss of life
on moral grounds

II. Consociationalism 2. US interventionist
policy towards
unfriendly
nations under
the guise of anti-
communism

III. Neoglobalism 3. Influence of
church on
political parties,
labour
organization,
education,
media, etc.

IV. Pacifism 4. A political
arrangement in
which various
groups, such as
ethnic or racial
populations
within a country
or region, share
power according
to an agreed
formula or
mechanism

Codes :

I II III IV

(A) 2 4 1 3

(B) 3 4 2 1

(C) 3 1 4 2

(D) 4 1 2 3

35. �%
'("	*���� �?=��	���	�@�$����� �D� �%	��
� k&l�� I !"

2�40����	�k&l�� II !"
�2�40�)?�m)���D�'�"		���		

k&l�� – I k&l�� – II

I. � ��?:$%m� 1. ���*+����� ��'q�����#
(Catholicism) ���q"������-7���D�P%

i�'�"		./����j� F�
���
����+�D'����� ��D�P%
;/������	�

II. 6����i�N���	��0/��� 2. ������	��
�-	7
(Consociationalism) ����+�D'����0/����Q

���		�%	���	!"�P%��5"�
�D�'�"	
�/D�40!"#
2���	
� ��"�����
�D��%	���D��,./0����

III. ��������,4�"N�0/��� 3. � m�n�'�"	���S7�	<
(Neoglobalism) � 
�������������%X<�,/���<

���i���'�i�./���0�	����F�"
�0F�"�R�*����
Z����6�����

IV. 40�+�0/��� 4. s����s����/�������� ��'�
(Pacifism) /D�4�"�!"
�!Y"���

����)���!"
����m�	
��+<������'�������F�"��0F�"
���+��E����� �
2.E� � 
��������	���	�D�
� m�n�'�"	�z� �M	

������ :
I II III IV

(A) 2 4 1 3

(B) 3 4 2 1

(C) 3 1 4 2

(D) 4 1 2 3
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36. According to his, appreciation of the Varna
system, Gandhi held the following views.
(A) A man shall follow the profession of

his ancestors for earning his living
(B) Growing poverty and unemployment

are due to abandonment of Varna
system

(C) For the sake of the society a person
should be compelled to follow his
family’s occupation

(D) Both (A) and (B)

37. A three tiered political arrangement
involving the central, state and local
governments with constitutional
distribution of resources among the three
levels of government is called as

(A) Creative Federalism

(B) Confederation

(C) Co-operative Federalism

(D) New Federalism

38. Match List I with List II and select the
correct answer from the codes given below :

           List – I List – II
(Name of Organization) (Name of

Leader)

I. Narmada Bachao a. Aruna Roy
Andolan

II. Ekta Parishad b. Medha Patkar
III. Majdoor Kisan c. P.V. Rajgopal

Shakti Sanghatan
IV. Tarun Bharat Sangh d. Rajendra

Singh
Codes :

I II III IV

(A) b d c a

(B) b c a d

(C) b c d a

(D) c b a d

36. �����'L���������%X���M#�;�����i����	���������*[
!"6������ �� �.k
�����E�2����'�"	��2����'�"��	����:I�;�=D��0=��	
(A) )������o������������'���	����+���	
$-�)������ ��^SN���	�����1

+&
��D���F�7:
(B) P�/��
����<�
��'	/?�� �� R���'	���	/���� �����'L� ��������%X���	

���E:�D�'�"	=�������#
(C) �%����m $5")���� ����'���	� ���+���	
$-� )������ ���	M	�O

���1+&
��D���FY"7�,./���� �O�����)�����D�'�"	

(D) (A) ���	
'�"		 (B) ��'�=���

37. � ��������O/����� ��D���/��<�� �-�<�i�X
�������6�"	)0N����	���������'	:�
�D�F��'		��D�� ���	�=�������� � m� n�'�"	� z� �M	���	�B!�
$��	i�&��'	

(A) �%1m�0)��������%����[��0/���

(B) � �J�R�=���D'�-�J�

(C) �%�5"� ��'��%����[��0/���

(D) ���������%����[��0/���

38. �%
'("	*���� �?=��	���	�@�$����� �D��%	�?���=���� /0N� � h��
����
���)0!"
�2�40����	���� ����������)0!"
� �%�O�.E)��
2�40�)?�m)������'���	���		

     k&l�� – I k&l�� – II

( 	
 	
7������
) (��8��
��

9� �����
)
I. �����'�/0�O�0�?�l�/?_�"�J� a. 2��'	q�� 'J"	
II. z� &���
�-)J� b. �D�	./0��M��T'
III. ���	��C�T'����i��J��4�"���&��%���	M�J� c. $�G�,G�� m�?��!J"
IV. )����'	qT"�6���')J���%�v�	 d. � �Y"��/���$%��T�

������ :
I II III IV

(A) b d c a

(B) b c a d

(C) b c d a

(D) c b a d
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39. Which of the following are associated with
the Scientific Management Movement ?

1. Functional Foremanship

2. Centralization

3. Time and motion study

4. Unity of command

Select the correct answer from the codes
given below :

Codes :

(A) 1 and 3

(B) 2 and 4

(C) 1, 2 and 3

(D) 2, 3 and 4

40. Krefeld Initiative refers to
(A) An informal organization in Europe

that helps nations to reduce their debt
burden

(B) A group of Latin American countries
that oppose US hegemony

(C) A movement in Europe that opposes
deployment of nuclear weapons in
Europe

(D) An NGO that keeps watch on human
right violations in Africa

41. From among the following, who has
authored the book – Colonialism,
Tradition and Reform : An Analysis of
Gandhi’s Political Discourse ?

(A) Raghavendra Rao

(B) Joan Bordurant

(C) David Hardiman

(D) Bhikhu Parekh

39. �����E��0F�"!"��D�F�"
�40>%x'�"	�
��'N�5"q")?����		=���R�=��)0��'	�u
�%
'("	*�����?=��	���	����	
&����=����/0N� �)���	���=��G

1. ,./��	��0S��j�T'���	���#���/���+

2. �D���k�����'q"

3. � ���������	�����2./���'�"	����

4. l����z���)��N���		

������ :
(A) 1 ���	
'�"		 3
(B) 2 ���	
'�"		 4
(C) 1, 2 ���	
'�"		 3
(D) 2, 3 ���	
'�"		 4

40. ����R�!J"H�����'����2���� 

(A) /D�40��O		q"6�� 
��)��I�����	�?���=0
�����%�'�"	��=D�
'�"	��?��Q�[�=����Q�!������D�)����'���������%X

(B) 2���	
� � R�)��&�0
�� ����+�D'�����D�� !�F�"�J��2���	
� 
/D�40������M,	

(C) '�"	��?��Q!"�2q�N'�"	./0���%A	�����'q"���	�����+�D'�����D�
'�"	��?$�'�"	�J��;/������	�

(D) l�$�� !"�������������5"���	���;�#���	����R�*�
�����R�FY"7
���6�"	)D�N)����'��%��%X (NGO).

41. �����E��0
!"�yy���!"
'�"	:m�<��F("=���-�J��2�=T��
���T'���
'�"��J��2�0:$%v%�lv��� �.kv%���:F�"���!J"�=��ij��T'w}}�2�D�
������0
����'�������0��'	��

(A) � ��	�D���/��� ���Q

(B) �"�J��V"��'	H�� �FJ"

(C) =D�,=T���
H���	�J�

(D) ���������D']J"
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42. Match items in List I with items in List II
and identify the code with the correct
answer :

      List – I List – II
(Method of Appointment (Country)

of Judges)
I. Election of Judges 1. India (Supreme

by people Court)
II. Election by 2. U.S.A.

Legislature (Supreme Court)
III. Appointment by 3. Cantons of

Executive Head in Switzerland
consultation with
the Chief Justice

IV. Appointment by 4. Federal Court
the Executive Head of Switzerland
subject to approval
of Upper House

Codes :
I II III IV

(A) 1 2 3 4
(B) 4 3 2 1
(C) 1 3 2 4
(D) 3 4 1 2

43. Match List I with List II and select the
correct answer from the codes given below :

      List – I List – II
(Name of State) (Number of members

in Lok Sabha)
I. Rajasthan a. 48
II. Maharashtra b. 20
III. Gujarat c. 13
IV. Punjab d. 25
Codes :

I II III IV
(A) b c d a
(B) a b c d
(C) d a b c

(D) a c b d

42. �%
'("	*���� �?=��	���	�@�$����� �D��%	��
� h��
����� ��F�"7���!"

2�40����	� � �� ���� ��� ��F�" 7 � ��!"
�2�40�)?� �%
� 
m)���D�'�"		���		G

 	�!"�#��
 – I 	�!"�#��
 – II

(��'8��
���
%���
-.�: +���
�	���� ,�) (�$�������

)
I. �0�'�"	���	���'	&:�����m�	 1. 6���')��/D�4�"�
@���	��?���=��� (�%	�>���?��'	7)

II. 40�%���40[�/0N� �@
���� 2. 2���	
� 
� ���=��� (�%	�>���?��'	7)

III. ���./0�����0�'�"	���	�
&
 3. $%NM��T'!��=T��!"

�%����E���� ��'�
� N�5"��� � �M�J��	
2.E��+��D�P%�
'�"����	����

IV. � ��'�
� N�5"����2.E��+ 4. $%7M��T'!��=T�
@���	�����%6�"�l����/��� R�=����'!J"�?��'	7
���E����)��� N)���
'�"����	����
�D�'�"	=���

������ :
I II III IV

(A) 1 2 3 4
(B) 4 3 2 1
(C) 1 3 2 4
(D) 3 4 1 2

43. �%
'("	*���� �?=��	���	�@�$����� �D��%	�?���=���� /0N� � h��
����
��F�" 7���!"
�2�40����	� ��� ������� ��F�" 7���!"
�2�40�)?
m)������'���	���		

��!"�#��
 – I 	�!"�#��
 – II
(��	;# �����
) (34��
	
<���	
<��
'.

	
 =')
I. � mi�X�J� a. 48
II. ���	�� �-� b. 20
III. ���	m� )J� c. 13
IV. �����VJ" d. 25
������ :

I II III IV
(A) b c d a
(B) a b c d
(C) d a b c

(D) a c b d
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44. Which of the following are features of
“Good Governance” ?

I. Citizen Participation
II. Bureaucratization
III. Transparency
IV. Rule of law
Select correct answer from the following –
(A) I, II and III (B) II, III and IV
(C) I and II (D) I, III and IV

45. Match the items in List I with items in List II
and identify the correct code :

List – I List – II
(Balance of (Feature)

Power Model)

I. Classical Model 1. Ideological blocs
control the world
under the fear of
nuclear war, with
race to  attract
small states

II. Loose Bipolar 2. Check on
Model unfriendly actions

due to fear of
nuclear explosion
by any country
which may cause
huge destruction

III. Collective Security 3. No International
Model Organisation, No

super power can
maintain peace
through limited
war and
concerted
development

IV. Limited Veto Model 4. Self-defense
through like-
minded nations,
voluntary
restrictions and
mutual
cooperation

Codes :
I II III IV

(A) 3 1 4 2
(B) 2 3 4 1
(C) 4 3 1 2
(D) 3 4 1 2

44. �����E��0F�"!"�yy�%	��
������}}��9��q�!Y",	F"��%��'*�����?=��	���	
���	
&����=����/0N� �)���	��Q���		

I. ����'�6����i�N���	��
II. ;/?�Ii�NA	������'q"�
III. ����'/����'�
���)��
IV. �%���	�0�'�"	�������
E���	�������	�=����%
'("	*�����%����./0������		����	�@���	��?�=��
(A) I, II ���	
'�"		 III (B) II, III ���	
'�"		 IV
(C) I ���	
'�"		 II (D) I, III ���	
'�"		 IV

45. �%
'("	*���� �?=��	���	�@�$����� �D��%	��
� h��
����� ��F�"7���!"

2�40����	���� ���������F�"7���!"
�2�40�)?�m)������'���	���		

��!"�#��
 – I 	�!"�#��
 – II
(����"
-� 	
���
���
.'���������
%��) (.>�
)� )

I. �%����/0'�"	�������	��0 1. 2q"	'�"		/����6�"'�"	�
l�%� � �6���������Q
V�#���	�	��������0
�

'�"	��+�%�&������
� ���:�
l���
�����=0
���*
�jFn"��=��	)��	�0��'		

II. ���/��	!("*����EN./��1����������	��0 2. z�/D�4�"��2q"	,ij�M����
�D�$%�0�,��S)�����	*���
����-7��m��'	���	)��	�/���D�
6�"'�"	�)?�4�"�)��	)��N��Q
�����'�:��)��I�����	�?���=���

III. �%,	$-7�6�"�/��)0�������	��0 3. z�2�)��� �3'�"	��%�i�X<
z�2����� m�������=0
��
,	)�����	*����'�"		/����
���	
'�"		���F�"�-7���	*
2����1E��/0N� �40�+

� ��=��!Y"/��	

IV. ��
,	)���AF"�������	��0 4. 2����'�"	i�N���	��
���:I����/D�40�	<
�%N���W�/���
'�"	��)��q"
����'�%���'��%�5"� ��'��/0N��'
>%N'�"	���'9��q"

������ :
I II III IV

(A) 3 1 4 2
(B) 2 3 4 1
(C) 4 3 1 2
(D) 3 4 1 2
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46. Which one of the following was the final

phase of M.N. Roy’s politico-ideological

evolution ?

(A) Militant nationalism

(B) Revolutionary nationalism

(C) Comintern-led world revolution

(D) Radial humanism

47. Which among the following states that the

essential function of government and

politics is to receive and process the

message or information ?

(A) Structural-Functionalism

(B) Systems Theory

(C) Communication Theory

(D) Elite Theory

48. Arrange the following in chronological

order by choosing the correct code :

i. Kesavananda Bharti Case

ii. Golak Nath Case

iii. Minerva Mills Case

iv. Sajjan Singh Case

Codes :

(A) iii, ii, iv, i

(B) i, iv, iii, ii

(C) iv, ii, i, iii

(D) ii, iv, iii, i

46. '�"	�G'�"	�J�G� 'J"	� � m� n�'�"	�6�������� ��
q����	
�������	�!"
�����
�/��4�"�zE�u

(A) �%4�"�%x���3'�"	�0/���

(B) ,��#����0)���������3'�"	�0/���

(C) � ,	�M�T'���0'�"	���)��N�!"����������,��#����

(D) � =�����!J"��5"�����	
m�

47. �����E� �0F�"!"� ���6�"	)��N�� ���	
'�"		� � m� n�'�"���2+

l���4�"�������	*����,.E� �%�/D�40����	<� �%�����0� 
�� >%N���
��

���=��V"'�"	=���D�	�(processing)�2
�2�D�E�zE�u

(A) 

�+���,./��	���0/���

(B) ��������%X��$%/0��)���

(C) ���i���'�$%/0��)���

(D) p�-	7��$%/0��)���

48. �%
'("	*�����?=��	���	����	
&����=����/0N� ������E��0F�"
��0F�"

'("		������ ��������	�!"�z� �M	��D�'�"		���		

i. �D�4�"�0����/���6���'+��D��%	

ii. �?��T��0�T���D��%	

iii. ,	���� N�,	!J"w��D��%	

iv. �%m��J�$%��T���D��%	

�������:
(A) iii, ii, iv, i

(B) i, iv, iii, ii

(C) iv, ii, i, iii

(D) ii, iv, iii, i
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49. Match the items in List I with items in List II

and identify the correct answer from the

codes given below :

List – I List – II

a. Hierarchy 1. Flow of Authority

b. Span of Control 2. One single boss

c. Delegation 3. Through proper

channel

d. Unity of Command 4. Supervision

Codes :

a b c d

(A) 4 2 1 3

(B) 3 4 1 2

(C) 4 3 2 1

(D) 2 1 3 4

50. Which of the following is correct

explanation of Gujaral Doctrine ?

(A) India should give more concessions

in trade and travel to her neighbours,

without expecting any reciprocity

(B) India should reach out to second

ranking world powers with the help of

Indian Diaspora

(C) India should vigorously pursue her

nuclear programme with tacit and

diplomatic support from nuclear world

except the US

(D) India should pursue her campaign to

get permanent membership of UN

Security Council

49. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
�������F�"7���!"


2�40����	���� ���������F�"7���!"
�2�40�)?�m)������'���	���		

	�!"�#��
 – I 	�!"�#��
 – II

a. ��������q"	���)����4D"q�" 1. 2.E� ��'�����0�5"�

b. 
'�"	��)��q����.E 2. s�D��s�����2.E��+

c. 2.E� ��'�/��)��&)�� 3. ;�)���������'��/0N� 

d. l����z���)��N� 4. ����'��D�9��q"

������ :

a b c d

(A) 4 2 1 3

(B) 3 4 1 2

(C) 4 3 2 1

(D) 2 1 3 4

50. ���	m� !J"� $%/0��)0
���� �%�O�.E��� �����E� �0F�"!"�zE

�%
'("	*���E�u

(A) O/��	�	� � zA	� lp�������	�=0� 6���')��/D�4�"�� )�����

����'	���	� /D�40����	� �0q �"m��<� ��� �M���� ��'�� !"#

@���	������ �'		3:�0N:

(B) ,/D�40!"#�
���$%�%	&�����6���'3'�"		��/0N� �6���')��/D�4�"�

��'�=�������4D"q�"�����������2������ ����)?����	*�+�i�.E��0:

(C) 2���	
� � ,	�����'		��� B)��� �'�2q"	/D�40�

!"��'�"	� S� � ��	
'�"		� /�) ���� �%�'�"	�)?

6���')��/D�4�"��/0
�2q"	� ��'���������
�����F�"7� �2���	�	

�D�'�"�:

(D) \����� m���%,	+�6�"�/��)0���	�=��:�404�"N)����%6�"�)��N�

���/��=0
���*�6���')��/D�4�"��)��I��������0��'���D�'�"�:
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51. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given
below.
Assertion (A):Socialism is an empirical

theory and a moral
doctrine.

Reason (R) : The central liberal values of
freedom and equality can
be rendered meaningless
by the structural
inequalities produced by
capitalism.

Codes :
(A) Both (A) and (R) are individually true

and (R) is the correct explanation of (A).
(B) Both (A) and (R) are individually true, but

(R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

52. Match the items of List-I with the items of
List-II by choosing the correct code.

 List – I List – II
(Books) (Authors)

I. The Politics of the 1. G. Almond and
Developing areas J. Coleman

II. Comparative Politics :
A Developmental 2. W. Rodney
approach

III. How Europe 3. S. Huntington
Underdeveloped
Africa

IV. Political Order in 4. G. Bingham
Changing Societies Powell

Codes :

I II III IV
(A) 1 4 2 3
(B) 1 2 3 4
(C) 1 3 2 4
(D) 1 4 3 2

51. �� ���/��� ��'�=��	� � �����M����	����,G� s���F�"� � ��+��/�����
(Assertion A) ��'�=�����E� P5")��	���Q (Reason R).
AF�"
�/��1$-7!"� R�M	7��
� �%
'("	*�����?=��	���	����	
&����=���
/0N� �)��I�����%����./0���,	���N�=��
�	���������� (A) :ij�-:m��s����l�����'q�)�������$%/0��)���

���	
'�"		�s�������*+����
'�"	���	�
������
���� (R) : R�M	7O=��/0S�,./0����� �%1$-7�����



�+� �%�O�./ ���2�%�������)���	
�n��������	*����;/0��'�0/���,�	���!("*����P%N�0W
�%�������)0N����	�
��'��'�������D�'�"	�������Q

������ :
(A) (A) ���	
'�"		 (R) ,=��,=��� ��%
'("	*����D�����	
'�"		

(R) (A) ���	��%
'("	*����,�����'q"
(B) (A) ���	
'�"		 (R) ,=��,=��� � �%
'("	*����D�� � 


(R) (A)����	��%
'("	*����,�����'q"�� /��	
(C) (A) s��t�� 
 (R) )����t
(D) (A) )����t�� 
 (R) s��t

52. �%
'("	*�����?=��	���	�@�$������D�'�"	=����/0N� �h��
�������F�"7���!"

2�40�)?���� ���������F�"7���!"
�2�40�)?�m)���D�'�"	�=��

 	�!"�#��
– I 	�!"�#��
 – II

(�(�
 0�.
) (���1����

���.
)
I. /�����:F�"�T�w�lv��/�� 1. KG�l!���=T��2�=T�
=������$���T��z
'�"�v% �("G��?����	�J�

II. ����P�
F�"�J����:F�"�T�w�� 2. =��O�#��G��?=n��
@�=������v����	�M!J"�2��j�J�

III. �5��'�"	��?v��2�=���T' 3. '�"	v%G��5"�F�"��T�M�J�
=������v�=T��l�$�� 

IV. ��:F�"���!J"�l��'H�T'�B�J� 4. KG���� �������!J"
�D��K��T��i�R%*Fn"v%

������ :
I II III IV

(A) 1 4 2 3
(B) 1 2 3 4
(C) 1 3 2 4
(D) 1 4 3 2
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53. In which three states, were the electronic
voting machines used first in the assembly
elections ?
(A) Chhattisgarh, Jharkhand and Gujarat
(B) Rajasthan, Gujarat and Madhya

Pradesh
(C) Uttar Pradesh, Delhi and Rajasthan
(D) Rajasthan, Delhi and Madhya

Pradesh

54. Match the following List I with List II and
identify the correct answer from the codes
given below :

List – I List – II

(Committees) (Year of
Establishment)

A. Public Accounts 1. 1964
Committee

B. Committee on Public 2. 1950
Undertakings

C. Estimates Committee 3. 1921
D. Standing Committee 4. 1993
Codes :

A B C D
(A) 4 2 1 3
(B) 3 1 2 4
(C) 2 3 4 1
(D) 1 4 3 2

55. Arrange the following in correct
chronological sequence by choosing the
correct code :

I. Lahore – Amritsar Bus service
II. IPKF in Sri Lanka
III. Full diplomatic ties between India and

Israel started
IV. Agreement-123 between India and

US
Codes :

(A) IV, III, II, I (B) III, II, IV, I
(C) II, III, I, IV (D) I, III, II, IV

53. �����E� �0F�"!"� z� ���	�=��	� � �� �!"#�@��� 7
�T�� �?F�"��T�
'�"	��)0:��)��	)���2R%��#�@
����!"#�,
'("�I��0��'	�u

(A) ���3&v%��	=T�<�����'��=T�����	
'�"		����	m� )J�

(B) � mi�X�J�<����	m� )J�����	
'�"		����	./������/D�4J"

(C) ;)��&��'���/D�4J"<����r#����	
'�"		�� mi�X�J�

(D) � mi�X�J�<����r#����	
'�"		����	./������/D�4J"

54. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
��������)0����	
��� ����������)0)?��%
� ��m)���D�'�"		���		

k&l�� – I k&l�� – II

(��
?
! m�.
) (@��A�
�1$�+
����	
 ���������� )

A. ���6�"	)��N�]�)0���%���	� 1. 1964

B. ���6�"	)��N��'������%��%X���%���	� 2. 1950

C. 2�����0���%���	� 3. 1921

D. i�X�'		��%�����	 4. 1993

������ :

A B C D

(A) 4 2 1 3

(B) 3 1 2 4

(C) 2 3 4 1

(D) 1 4 3 2

55. �%
'("	*�����?=��	���	�@�$������D�'�"	=����/0N� ������E��0F�"

2,�m
I�����%���	'�"	��������	�!"�P���'	Z���		

I. !��5"�T' – 2�,	)J��%�T'�O�%	w��%SN�%	
II. ������!"�6���')���40�+���
��'9������/��_�"��(IPKF)

III. 6���')��/D�4�"�����	
'�"		�B���'("	!J"����	./���������^
&�/�)���
�%�O�./0�	������'�6�"���	'�"���'		

IV. 6���')��/D�4�"�<�2���	
� �����	./�������-123 s=���O=�����
������ :

(A) IV, III, II, I (B) III, II, IV, I
(C) II, III, I, IV (D) I, III, II, IV



�������

 III� 22 A-19-03

56. The authority of the government official is
an example of
(A) Legal-Rational Authority
(B) Traditional Authority
(C) Charismatic Authority
(D) Influence

57. Who said, “India is unitary state with
subsidiary federal principles rather than a
federal state with subsidiary unitary
principles” ?
(A) Norman D. Palmer
(B) K.C. Wheare
(C) C.H. Alexandrowich
(D) Granville Austin

58. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the correct
answer from the codes given below :
Assertion (A):Bureaucracy plays a more

important role in policy
formulation in developing
countries than in the
developed ones.

Reasoning (R) : In developing countries,
because of the
weaknesses of interest
groups and political parties,
articulation and
aggregation of interests
through them are often not
possible.

Codes :
(A) Both A and R are true, and R is the

correct explanation of A
(B) Both A and R are true, and R is not

correct explanation of A.
(C) A is true, but R is false.

(D) A is false, but R is true.

56. ���6�"	)0N.E� 
����;�=D��2.E� ��'��k
����;/0�5"��'q"
(A) ���M7�P5")��	O/����2.E� ��'�
(B) �%����/0'�"	�2.E� ��'�
(C) �%������5"�0)�������2.E� ��'�
(D) ���6�����

57. “6���')��/D�4�"��2���	O�./���z����D���/����9��q��	����� �%����[�
� m���2���=��������FY"�2���	O�./����%����[���9��q��	�����z���
�D���/���� m���2�0:” 2
����$�����E
(A) �0��'��J��=��G������	�T'
(B) ���G$%G��D��T'
(C) $%G�R5"�J�G�2!("� ���=?,�J�
(D) �� �J�,!J"�l$%7�J�

58. �����/��� ��'�=��	� ������M���:���NO=�����,G� s���F�"� ���+��/�����
(Assertion A) ��'�=�����E� P5")��	���Q (Reason (R).
AF�"
�/��1$-7!"� R�M	7��
� �%
'("	*�����?=��	���	����	
&����=���
/0N� ��%
'("	*�����%����./0���,	���N�=��G
�	���������� (A) :2�� ��1E � � � ���/��	)��	� ���� / D�40!"#

2����1E������E����/D�40�����FY"�@���	����
���		[����	*�������)�����	�;/?�I�i�N���	��
���:I�;�E

������
����� (R) :2����1E������/��	)��	�����/D�40!"#
����6����
���� ��	� ���	
'�"		� � m�n�'�"	���S7�
O�>5 "� ��) ��� ���#� AF� "� /0N� 
���'("�m�0�� ����� n� &�����'q"� ���	
'�"		
�%A	�����'q"� )����'���	� � i�./�����=��M�
!Y"/��	

������ :
(A) (A) ���	
'�"		 (R) ��'�=���� �%
'("	*����D�� ���	
'�"		

(R) (A) ���	��%
'("	*����,�����'q"
(B) (A) ���	
'�"		 (R) ��'�=���� �%
'("	*����D�� � 


(R) (A)����	��%
'("	*����,�����'q"�� /��	
(C) (A) s��t�� 
 (R) )����t
(D) (A) )����t�� 
 (R) s��t
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59. Which of the following methods can be

applied to reduce economic disparities

between North and South ? Indicate the

answer by choosing the correct code.

I. Develop particular sectors and

industries in the economy of South

which are competitive in the North.

II. Accumulate more wealth in the North

through protectionism that will

ultimately trickle down to South.

III. Shift income from North to South

through a strong political action.

IV. Adopt a mix strategy of Welfare

capitalism along with foreign aid and

indigenous development.

Codes :

(A) I, II and IV

(B) II only

(C) III and IV

(D) II and III

60. Who made the first systematic attempt to

analyse the Concept of Power ?

(A) T. H. Green

(B) I. Kant

(C) W. Hegel

(D) M. Weber

59. ;)��&� E�/��9��q�E�����	./�����������l
X��������)0�i���
��'���������

�����E� �0F�"!"� z� ��/���)��	����	�;��'("�I����������	Z�?

�%
'("	*�����?=��	���	����	
&����=����/0N� �)���	��Q���		

I. ;)��&� E!"��jFn"!"�
������ ��'�� ����	� ���	
'�"		

��
�4�"���	����	�/��9��q"�!"�2����1E������'���=���

II. ;)��&� .E!"����F("9��
m��/0N� �@���	����� �%���/�����	

�j���	�D�'�"	=����)��/0N� �/��9��q�E!"���/��	������)���� 

2����1E��m��'���=���

III. ��F�"�-7���	*����� m�n�'�"	����1$-�/0N� �;)��&� E�l/0'�"�
�

/��9��q�E��������
�=����D�'�"	=���

IV. ,/D�~��%�'�"	�����	
'�"		�/D�~'�"	���	*����2����1E�)?

��M	� � �%�9D����	� R�M	7O=��/0S�,./0�����;�����s���

,	�4�"���	����^��
��2���	�%
����=���

������ :

(A) I, II ���	
'�"		 IV

(B) II �����)���D�	

(C) III ���	
'�"		 IV

(D) II ���	
'�"		 III

60. 4�"���&�6����������	�,4D"#$-����=0
���*�)�:��������	O/������	*�������'�"	)����
�D�$%���E�@�����'	�u

(A) F�"G�R5"�J�G��`�J�

(B) \G�� �FJ"

(C) =��O	#��G�R5"���!J"

(D) '�"	�G����O�T'
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61. Which group of subjects is wrongly listed
as part of the concurrent list ?

(A) Criminal matters, Marriage,
Succession

(B) Preventive detention, social security,
rehabilitation

(C) Industrial dispute, economic and
social planning

(D) Marriage and separation, justice,
mines and minerals

62. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given below.

Assertion (A): There cannot be an
organization without
hierarchy.

Reason (R) :Organisation involves
division of work among a
group of people.

Codes :

(A) Both (A) and (R) are individually true
and (R) is the correct explanation of
(A).

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

61. �����E��0F�"!"�z�,�-'�"����%���	��5"��;���	�=������)0!"


2�40�
�)����t� ��D���'ZO=���0�'		�u

(A) �D���'�,�-'�"��	<�,�0��	<��0��'�%)��N�

(B) �$�����F�"�J��=��F("�����J�<�i��$�	����6�"�/��)��<���Q���� �0�%�

(C) ��
�40,	����,�0/���<�i�����K������l
X�������q�a�����'q"

(D) ,�0�5"�� ���	
'�"		�,=0���	�	<��0�'�"	�<�������	�	<

[
���	

62. �� ���/��� ��'�=��	� � �����M����	����,G� s���F�"� � ��+��/�����

(Assertion A) ��'�=�����E� P5")��	���Q (Reason R).

AF�"
�/��1$-7!"� R�M	7��
� �%
'("	*�����?=��	���	����	
&����=���

/0N� ��%����./0���,	���		�G

�	���������� (A) : �����������	���)���4D"q�"�!Y"���	�=0�s�����������%X

;�=��!Y"/��	

������
���� (R) : ��������%X!"��������	&�����	./���������
�,6�"m���

;�M	�E

������ :

(A) (A) ���	
'�"		 (R) ��'�=����,=��,=��� � �%
'("	*����D�

���	
'�"		 (R) (A) ���	��%
'("	*����,�����'q"

(B) (A) ���	
'�"		 (R) ��'�=����,=��,=��� ��%
'("	*����D��� 


(R) (A)����	��%
'("	*����,�����'q"�� /��	

(C) (A) s��t�� 
 (R) )����t

(D) (A) )����t�� 
 (R) s��t
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63. World community has been using various

methods of conflict resolution. Given
below are some incidents of disputes in
List I. Match those with the method of
settlement given in List II by choosing the
correct code.

List I List II

I. Secretary level 1. Good offices
rounds of talks between
India and China

II. Meeting of Anwar 2. Arbitration
Sadat and Menachem
Begin in the presence
of Jimmy Carter at
Camp David

III. Sir Owen Dixon of 3. Negotiation
Australia appointed
by the UN to supervise
demilitarization of J&K

IV. Settlement of dispute 4. Mediation
over Rann of Kutch
between India and
Pakistan in 1968

Codes :

I II III IV

(A) 3 4 1 2

(B) 4 1 2 3

(C) 3 1 4 2

(D) 2 1 4 3

64. Elite Theory assumes that

(A) Humans are inherently unequal

(B) Rulers come from Masses

(C) Masses are alert and active

(D) Rulers are in the majority

63. �����������%����m����	��'�q"��
�0��'q"���	�,��������/���)��	:�

,
'("�I�%	&����EG�s���M������F�"7���!"���
����	��'�q�)��#������	*���
�%���	M����	����,G�AF�"
� ��'�=������ ��F�"7���!"
� ��
�����'
��/���)��	�)?��%
'("	*�����?=��	���	�@�$������D�'�"	=����/0N� �m)��
�D�'�"	�=��

	�!"�#��
 – I 	�!"�#��
 – II

I. 6���')��/D�4�"�����*�0�����	./������ 1. ���	=T��l>��%v%
� ��'�/����'	���i�X�'		!"
 (Good
/�������0
������'Z�	 offices)

II. � ��v��=D�,=T�!" 2. l
b�FY"�-�J�
KA	� � ��'7�T'��%���	9���!" (Arbitration)

2���N�T'i�/��)J�����	
'�"		
���	�0����J�	�V("I�J��������'Z�	

III. m���	���� ~���'	�
R%*w
�n������'q"���	 3. �����'Z�	
����'��D�9������=0
���*�\����� m���%,	+ �%����E���Q�	
l�P%7:'�"����	�����E���
�%�T'�s����J��=�����w�J����	�
'�"	,	����=���

IV. 1968 !"�� �J��lv������J��R�*���� 4. ����	./������
&)��N�
,�0/0
��B�=��'�"�������i�&�J��	
��
�-�
����	�?���=���

������ :

I II III IV

(A) 3 4 1 2

(B) 4 1 2 3

(C) 3 1 4 2

(D) 2 1 4 3

64. p�-	7��$%/0��)����B!��6�,�%	&�E

(A) ���	���	�-	�	�i�N6�,����� �2�%�������	�	
(B) ������	�	�m���i����������!"����	�=������i�&��'	
(C) m����i������������������'����)��)?<����	��'	���	� �;�0���'	
(D) ������	�	����	��
Fn"!"�;�0���'	



�������

 III� 26 A-19-03

65. Given below are two statements, one

labelled as Assertion (A), and the other

labelled as Reason (R). Select the proper

answer from the codes given below.

Assertion (A): The differentiation and

polarization of peasant

classes has been nearly

frozen.

Reason (R) :Only ‘partial

proletarianization’ has

occurred as a result of

migration, remittances

associated with it, and of

increasing employment

outside agriculture.

Codes :

(A) Both (A) and (R) are individually true

and (R) is the correct explanation of (A)

(B) Both (A) and (R) are  individually true, but

(R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

66. The need for constitutional sanction to

village panchayats was first felt by

(A) V.K.R.V. Rao Committee

(B) Ashok Mehta Committee

(C) L.M. Singhvi Committee

(D) Balwantray Mehta Committee

65. �� ���/��� ��'�=��	� � �����M����	����,G� s���F�"� � ��+��/�����

(Assertion A) ��'�=�����E� P5")��	���Q (Reason R).

AF�"
�������)��&� ����E,��%
'("	*�����?=��	���	����	
&����	���		G

�	���������� (A) : ��'*)0��������� ���,6�"m���<�z�n������'q"�	

/0/0��Q� �lI�j'�"��'		

������
���� (R) : �����%��j���=���<�/0
)?�����=������ ,/D�~¡

���:#���Q�	<��������i�'Y"	)����'���'�� �!"

R�� �'	� ��	) ��	� ���� ;��E� � ����� ���

���	���� � �D������� ��9������ �40,	���

���S������'q"�������)���D�	�m
I�E

������ :

(A) (A) ���	
'�"		 (R) ��'�=����,=��,=��� � �%
'("	*����D�

���	
'�"		 (R) (A) ���	��%
'("	*����,�����'q"

(B) (A) ���	
'�"		 (R) ��'�=����,=��,=��� ��%
'("	*����D��� 


(R) (A)����	��%
'("	*����,�����'q"�� /��	

(C) (A) s��t�� 
 (R) )����t

(D) (A) )����t�� 
 (R) s��t

66. �� ���	�����0�'		3����	�� ����������������)���;�=0�
�)�:� 

6�,�����E

(A) ,G���Gl�T'G,G�� ���Q����,	Fn"

(B) 24"�T�����	�5")0����,	Fn"

(C) '�"	!J"G'�"	�G�$%�>�	N����,	Fn"

(D) O�N�)���� 'J"	����	�5")0����,	Fn"
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67. Match items in List I with items in List II

and identify the correct answer from the

codes given below :

List – I List – II

I. Liberal 1. End of

Internationalism economic and

political divisions

of the world to

create a just and

peaceful world

II. Conservatism 2. Construction of

warrior mentality

and masculinity

III. Marxism 3. Goodness of

human nature and

harmony of

interests

IV. Realism 4. International

politics is the

maintenance of

status quo and

political order

Codes :

I II III IV

(A) 2 4 1 3

(B) 3 4 1 2

(C) 4 1 2 3

(D) 2 1 4 3

67. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
�������F�"7���!"


2�40�	���� ���������F�"7���!"
�2�40�)?�m)������'���	���		

��!"�#��
 – I 	�!"�#��
 – II

I. ;/0��'�0/�� 1. �0�'�"	�<

2�)��� �3'�"	 �40�+���	'�"	���	*���

�0/�����		 �������0
���%1$-7����=0
���*

����������!"
�l
X���<

� m�n�'�"	�,6�"m���:�

2�)�����D�'�"	=���

II. ��%����/0'�"	�0/�����		 2. �R%*
����'("�./��	


���	����%&)0N
�<����	���F�",	



� �q"���D�'�"	=���

III. �����
��wm���		 3. ������������%N6������Q

;/0)��&)������	
'�"		

���'("�m�0��i����	��'�%��

IV. �'�"	�0��'X�0/�����		 4. 2�)��� �3'�"	

� m�n�'�"������ 

'�"	�0)������$%X+
<

� m�n�'�"	���������
�

� ��=��M�
������ :

I II III IV

(A) 2 4 1 3

(B) 3 4 1 2

(C) 4 1 2 3

(D) 2 1 4 3
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68. Match List I with List II and select  the
correct answer using the codes given
below :

List I List II
(Provisions in the (Source)

Indian Constitution)
I. Amendment 1. Constitution of

Procedure South Africa
II. Emergency 2. Ireland

Provisions Constitution
III. Elected Head of 3. Constitution of

the State (Republic) German Reich
IV. Procedure 4. Constitution of

Established by Law Japan
Codes :

I II III IV
(A) 1 2 3 4
(B) 1 3 2 4
(C) 4 3 2 1
(D) 2 1 4 3

69. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given below.
Assertion (A): ‘In the context of society

today, the caste system and
much that goes with it are
wholly incompatible,
reactionary, restrictive and
barriers to progress’.

Reason (R) : ‘There can be no equality
in  status and opportunity
within the frame work of the
caste system, nor can there
be political democracy....’.

Codes :
(A) Both (A) and (R) are individually true

and (R) is the correct explanation of (A).

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

68. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
�������F�"7���!"

2�40:����� ���������F�"7���!"
�2�40�)?�m)������'���	���		G

� 	�!"�#��
 I � 	�!"�#��
 II
(�<&���������k&' (�
 349��	���
���)&.
) (�	���
%. )

I. ��%�����'q"�,./0���� 1. /��9��q��l�$�� 
� ��������

II. 2)�������%��'���
$%X+ 2. \�T'!��=T��� ��������
��������'q��	

III. � ���.E�D�)���@
������ ���=��� 3. m��'��J��S�T��� m������
(���q")����)���� m��)

IV. ���M7��/0N� �,.E����O=����� 4. m�����	�� ��������

O�./�����

������ :
I II III IV

(A) 1 2 3 4
(B) 1 3 2 4
(C) 4 3 2 1
(D) 2 1 4 3

69. �����/��� ��'�=��	� � �����M����	����,G� s���F�"� � ��+��/�����
(Assertion A)<� ��'�=�����E� P5")��	���Q� (Reason B)G
AF�"
�V�� ����E,��%
'("	*�����?=��	���	����	
&����=����/0N� 
�%
'("	*�����%����./0������		
���N�=��
�	���������� (A) : ‘8�0=��	������%����m��Q��%�/����'��!"<

���	���������%X����	
'�"		�/0
����m)�����:$%���
,�-'�"��	� ��^
&� ’ 2�%�O/0��	<
��)�����~!��	<��%����	�)0�	����	
'�"		
������+�
�?./��� �	.

������
���� (R) : ���	���������%X����M7�!"�����P%&�2�)���%	X!"#
� 
�2���� 40!"#� � 
� �%�������)��N�
;�=D�� A�	!Y"/��	G�2/D�� ,./ ���� 
� m� n �'�"	� � ����i�N���	��� � ���=0
A�	� /��	

������ :
(A) (A) ���	
'�"		 (R) ��'�=����,=��,=��� � �%
'("	*����D�

���	
'�"		 (R) (A) ���	��%
'("	*����,�����'q"
(B) (A) ���	
'�"		 (R) ��'�=����,=��,=��� ��%
'("	*����D��� 


(R) (A)����	��%
'("	*����,�����'q"�� /��	
(C) (A) s��t�� 
 (R) )����t
(D) (A) )����t�� 
 (R) s��t
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70. Match the items in List I with items in List II

and identify the correct answer from the

codes given below :

List – I List – II

(Author) (Book Title)

A. Max Weber 1. Dynamic

Administration

B. Luther Gulick 2. Organisation and

Management

C. M.P. Follet 3. Economy and

Society

D. Chester Barnard 4. The papers on

the science of

Administration

E. George Elton 5. The political

Mayo problems of

Industrial

civilisation

Codes :

A B C D E

(A) 2 3 4 1 5

(B) 2 3 1 4 5

(C) 3 4 1 2 5

(D) 4 2 3 1 5

70. �%
'("	*�����?=��	���	����	
&����=����/0N� �h��
��������)0!"


2�40����	���� ����������)0!"
�2�40�)?��%
'("	*����S+!"

m)������'���	���		

k&l�� – I k&l�� – II

(�(�
 0����
��� -) (	��	
-��
�n/o��
)

A. �����T�w����O�T' 1. =��*���,	�T��2=���
�P%7�-�J�

B. ������T'����:�T� 2. l��'����*�Y"�-�J��2�=T�

�D�	�D��J"���	�FJ"

C. '�"	�G$�G���!("FJ" 3. @� ���A	�2�=T��i�R%*Fn"

D. ����%7�T'�O� ��T'H 4. /���P����T'w�l�J��/���R%*�J�w

lv��2=���
P%��-�J�

E. ���T'��@�7�J���D�	'("� 5. /�����:F�"���!J"����V("#�J�	w

lv��B�=���$%7'�"	!J"

$%,!("*�Y"�-�J�

������ :

A B C D E

(A) 2 3 4 1 5

(B) 2 3 1 4 5

(C) 3 4 1 2 5

(D) 4 2 3 1 5
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71. Agenda 21 is the voluntarily implemented
action agenda of the UN for the 21st

century. Which of the statement(s) is/are
true regarding it ?

I. Agenda 21 aims at reserving
protectionism in order to expand world
trade.

II. Agenda 21 desires to promote
equitable multilateral trading system.

III. Agenda 21 lays down the ways of
blocking illegal supply of arms to
terrorists.

IV. Agenda 21 explored mechanism to
establish democratic regimes by
throwing out dictatorship.

Select correct alternative from the codes
given below :

Codes :

(A) I and II are true (B) II and III are true

(C) Only IV is true (D) Only III is true

Read the following passage and answer the
questions 72-75 on the basis of your
understanding of the passage.

They say that to do injustice is, by nature, good;
to suffer injustice, evil; but that the evil is greater
than the good. And so when men have both
done and suffered injustice and have had
experience of both, not being able to avoid the
one and obtain the other, they think that they
had better agree among themselves to have
neither; hence there arise laws and mutual
covenants; and that which is ordained by law is
termed by them lawful and just. This they affirm
to be the origin and nature of justice; - it is a
mean or compromise, between the best of all,
which is to do injustice and not be punished,
and the worst of all, which is to suffer injustice
without the power of retaliation; and justice,
being at a middle point between the two, is
tolerated not as a good, but as the lesser evil,
and honoured by reason of the inability of men
to do injustice. For no man who is worthy to be
called a man would ever submit to such an

71. z�("�=0�21�2�D�E�21 ����4�")0�C!"��%N���W�/���� �2���	�	
����'�������$%����2�40�� ��F�"7���G�k
���� �%�O�.E��� �����E
�0F�"!"�z,��%
'("	*���,�u

I. ����������!"������'&�����R���'���=0
���*�z�("�=0 21 l
X���
��'9��q"�0/0
��(protectionism)
+�?���,	����Y"'�"��
�lp�%	&�E

II. z�("�=0 21 �%���	)0��^��'N����O�5"	��9������ �����' &���
��������%X���	���j)��w$5"��0�
�2��$-�%	&�E

III. z�("�=0 21 ���M7�,��'	/����� �;�����0/��	����	� �D�P%
l'�"		./��� �%��' ��� ���	�2=��	H�?���=0
���� � ����$%���
����� �����	��%���%	&�E.

IV. z�("�=0 21 
��'����	40)0N
��2�)���� � D� $%
�����i�N,	�������������	����+$-7����=0
����2����%��'���	*���
'�"	��)0�� 
��2�D�N$-���E

�����E� �0F�"!"� �%
'("	*���� �?=��	���	� ���	
&����=���� /0N� 
�%
'("	*�����%����./0���,	���N�=��

������ :
(A) I ���	
'�"		 II s��t
(B) II ���	
'�"		 III s��t
(C)  IV �����)���D�	�s��t
(D) III �����)���D�	�s��t

�����E���¢ 
�����E,�A	�2���� �5"�����D�	��'���	 72 ���	�=���75 ���
���4�"�������'���	��%����./0������		:���N�=��G
�0��'	�2�0�'�"	�� �D�'�"	=����2�D�E� i�N6�,����� � ���	��/��
<
2�0�'�"�
�� �%$5"����=�����	�D�E� ���=��H/��
� �����t)0��'	G� � 
�8
���=��	��Q����	������FY"�@���	����� �m��'	���	)������E�2
�������	
��0:G
���	���	�-	��	����=��	��D��%�&����=��	���	����	��'���Q)����;�0���'	G�8���'�F�"!"
zk� )�� $������	�?!Y"�����j)��	�0���'	G� ��'�F�"
�2���	6�",�%	&�0���'	G
2��t=��	��0��'�/����'�����:$%�8���'�F�"U�!Y"���	�=0��D��%	�?�0�

s����s����/�������	/��	��'	Z���	�0���'	G�8�,./���� ����F�7�	� ����'�%���'
s=���O=������	���QF�7�'		G�8�)��� N)������M7�,E)�����	�'		�����0F�"

�0�'�"	���	*������
������t���	�0���'	G����M7��2�D�E�;)��&���	���	�'		�����0F�"���<
2./�����	���	*�����0F�"��%���M	�!Y"�����%� �%
G�B����=���;)��&���	���	�'		���/���FY"
2�0�'�"	�� �D� $%� p9�����	� )�� $������	�?���=���G�2./�����	�� z���	�FY"
���+��	F�"��D��4�"���&!Y"����2�0�'�"�
���%$5"����=���G��0�'�"	��2�D�E�8
��'�F�"���� ���	./���!"�;�=D����/��	���Q!��F�"EG�k
�� �%$5"����=0
���
� ��'q"��2E����	��/��
�� /��	�2+�)�����	��������=��	��Q�� ���=�������#�D�
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agreement if he were able to resist; he would
be mad if he did. Such is the received account,
Socrates, of the nature and origin of justice.

Now that those who practise justice do so
involuntarily and because they have not the
power to be unjust will best appear if we imagine
something of this kind: having given both to the
just and the unjust power to do what they will,
let us watch and see whither desire will lead
them; then we shall discover in the very act the
just and unjust man to be proceeding along the
same road, following their interest, which all
natures deem to be their good, and are only
diverted into the path of justice by the force of
law.

72. The author of the passage is primarily
concerned with
(A) laws and mutual covenants
(B) doing injustice and not getting

punished
(C) suffering injustice without retaliatory

power
(D) finding out the nature and origin of

justice

73. The content of the passage can best be
need for making an argument that
(A) it is difficult to escape suffering

injustice
(B) to cause injustice is good
(C) to suffer injustice is evil
(D) justice can not be done without law

74. The passage discusses the
(A) innovative conception of justice
(B) ideal conception of justice
(C) existing and revised conception of

justice
(D) logical conception of justice

75. Justice should be valued as
(A) force of law
(B) fairest of goods
(C) a means to locate just individual
(D) a mechanism to punish the guilty

k
�� �%$5"i�&��'	G�k
������',����=0
����2�0�'�"	���D�'�"	=0
���<
���	���	�-	!"#
�24�"��� &)D�� � ��'q"�G� ���	
�-����� �0=�����=���� )��������	
���+��	M�0�4�"���&�;�FY"�B!��F�"�s����/0
����s��t�?=��	G�B�/��	����#�D�
���+��	F�"����=����$��Z�0
���
�2���Q)��	�EG�ij����Fn"v%£�Bk����	������	
�0�'�"	��'("		�����l,� ������%N6��0:�����	
���)��:$%�����%�����0��'�G
�0�'�"�
����F�"��D���0��'�/��	���	�/0
��2�'		�-7��;�=�������=0�@!�
��F�"i�&��'�FY"��0
����2�0�'�"	�� �������
&��D��4�"���&!Y"�����j���=���D�	���

���� ��	
��0:G�8� ,�-'� "�
�� s� ��� ;/0�5 "� �'q"� /0N� 
)���	�%	�?������	ZG�s�����0�'�"	���	*�����������&����s����2�0�'�"	��Q��������&����B/��C
�D�
�0
�0
�B�-7���� ��'�����=��	���	���D��P%N���W�B�Z�z��m��'	���	)��	�/?
����P%&� �0
��'	���Q��'�� s�D�� /0
!"� �0
�0
� �%N���'("�m�0:�
i�.E����	���	�D��E4�"� � ��'�"	
i�&��'	G����M7��/0N� �O����'("�����
�D�$%�����t=D��2�0�'�"	������ �
�����E:��0�'�"	������'��!"�����0��'	
���i�&��'	G

72. R�*� �0�]������!"� ��'����'		)��� /D�
�� ���	
��� ���./0����� 
������=��	�u
(A) ���F�7�	�����'�%���'�s=���O=������	
(B) 2�0�'�"	���D�$%�����=0�/���=������O=�������j���=���
(C) +$���FY"7�4�"���&�!Y"���	�=0�2�0�'�"�
���%$5"����=���
(D) 2�0�'�"	��Q���QM	7������	<��%N6��0
��������	�?���=���

73. 8��0�[�!"
�,�-'�"�
�����+��E���� ��D��%	��
������E
�0F�"!"�z��0/�������D�P%&��%���	�m�%�� �;�M	�E�u
(A) 2�0�'�"	�����	�=���)��$������	�?���=��������-7�
(B) 2�0�'�"	���D�'�"	=�������	��E
(C) 2�0�'�"�
��6�"
����=�������=��	�,�-'�"	�
(D) ���M7��!Y"���	�=0��0�'�"	��m��'���/��	

74. R�*��0�[�!"����
Z������,�-'�"	��BE
(A) 2�D�N�-q�)���������	*�����0�'�"	�6�������
(B) l/����'���0�'�"	�6�������
(C) ����%	&)������	
'�"		��%���
�������0�'�"	�6�������
(D) )0
�������	*�����0�'�"	6�������

75. �0�'�"�
��B!��,�	�������F�7:
(A) ���M7��'("		�����4�"���&� 
(B) �%��'	���	!"#�;)��&���	���	�'		���E� 
(C) �0�'�"	O/��	�=��*�����������&
����	
&��D��i�./������� 
(D) )����t��D�$%�����0

�/���=����D��'�"	��)0������ 
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Space for Rough Work


